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Figure S1 (A). UV-Vis spectra of 2-Cyanoresorcin[4]arene with four axial ethyl chains (2.86×10-5 M) in a water-methanol (50/1) solution at pH 3-8 at room temperature (28oC)
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Figure S1 (B). UV-Vis spectra of 2-Cyanoresorcin[4]arene with four axial ethyl chains (2.86×10-5 M) in a water-methanol (50/1) solution at pH 8~ 4N NaOH at room temperature (28oC)
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Figure S2. Relationship between the equivalence of NaOH added and pH for the solution of 2-cyanoresorcin[4]arene (2.80×10-5 M) in a mixture of water-methanol (50/1 by volume) at room temperature (28oC)
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500mMKCl, pH 7.2
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500mMKCl, pH 8.5
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500mMKCl_pH6.0
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  500mMKCl, pH 7.2
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Figure S3. Current - Voltage plots of 1a in a symmetric electrolyte (500mM KCl) at pH6.0 (left), pH7.2 (middle), and pH8.5 (right).
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